N HEEEE
HYDRAULIC SHOCK ABSORBER

e &

. SA RIIFEBBITIE
ImmEARISLE -
2. BREEEST REHIL EHEE -
3. RECHRIEBEEREER
RLEE -

4. HETICEESREEE
BKE0 - WHILMEREE
fs 2 TR -

-

HEEEREELGS BEDHIRE
=L YN
HER ¥ T IBn
e EI=E
] I] \ e
S\ L EIENR
| SA/SD mEms | | /
_ R 2 |
ZE E || #H
EaE |
LR ]
Sl / T
/// \\
(i R ITIE
POEEL
BISER AR ERIATEE &R EIRE
RT3 E
SA 25 X 40 1 NC
| | | |
* 3 ) SR 17 2 B E
[ \
SA SEARSE 2| RNBRIEE
2 | BERERPE NC| R EZIEDR
SD S lilene g | BREER
B
BB 1
N mzum

4 15.01



SA R

HERHE E AR St B AT

Ex(Nm): EhEE

Eo(Nm): BEEhEES

ErlNm): {ESEEE

ErciNm): B/)\EFREES

F(N): #5&7=0.00785 Pd®
Fm(N): SRAEESI=1.2ET/S (15)
glm/s®): ENNLRE

L EERREL

6 rad):-ZEEBARMEEE
w (rad/s).BRE

We(kg): BEEE
C(Hr): BN\ FRFZERE

B #E @ A 2 & I

dimm): RELAE
him): SE

HM: FBERIEIRE=2.5
mkg): IBENVIRESEE
Plbar): {EENE/]
R(m): ¥

Rs(m): SHEE &SR 2 et aIEERE
S(m): SHEIEEIESRITIE
TINm): BEEHIHETI
tlsec): BUXRLEFE
Vim/s): EEERE
KWikw): EENFZEINE

(1) EHYN0HESETIBVDEE | (2) ;2 EMINIHEEIHVYDEE (3) BEE=EE
—S s EET
7=l \ S I N\ S i
2 2
ENHE Ex _mxVe mxV mxgxh
2 2
T{FeEE Eo FxS 0 mXgxs
mE5EEE Er Ex+Eb Ex+Ebp Ex+Eb
B\GHREEE Erc ErxC Erx C Erx C
2 xE 2 xE
BNEEIE We ——%}— m —J%Lf
EEE%E%EE V - - v 2xgxh
o3& SC2540 ; SD3650 SC1415-1 ; SD4250 SC2580-1 ; SA3660
(4) BBiERRENDEE (5) RELIEE (B) IeiE@ENE
g o
6
mxV2 mxV? )
EhEE Ex 0.25XmXV1
2 2
TiEgEs e 1 OOOXKWi(/H MXSTXS MXSXSineXg ('Il'quS]
=11 Ex Exk+Eb Exk+Eb Exk+Eb
B/)\IFHEEEE Erc Erx C ETx C Etx C
e 2 x Er 2 x Er 2 x Er
BUEEE We T T T
e s (VTxRs)
BEERZEERE \% - v 2gxLxSinf RT
OJEH SC3660-2 ; SD4275 SC2540-1 ; SD4275 SC3660-3 ; SD4250

4 15.02



H B 4% & 248

< iANTO
HYDRAULIC SHOCK ABSORBER
NEERIIK
SA0806 SA0806-SN
M8X1.0P #h38 B=11 o M8X1.0P #hE B=11 ©
(C=12.8) 7 Qi (C=12.8) / ai
o ) 8
=SR] |
el g el 2
5 33 6| 6 40.6 6
50
BAZARBEE| RABNEE | aEEERE | /) ERINEEE
Nm We(kg) m/'s Nm
SA0806-1 6 2 0.5 2.0 8800 -10~+80
SA0806-2 6 2 2.0 1.0 8800 -10~+80
SA0806-3 6 2 6.0 0.5 8800 -10~+80
SA0806-SN 6 3 6.0 0.3~2.5 7000 -10~+80
SA1005
M10X1.0P 48 B=12.7
(C=14.5) -
N 8§
=)
L jﬂ Q
3 8
4.8 22.9 5| .6
38.7
BASARBNEE| RABTVNEE | KSEZRE | /IS RIEEE
Nm We(kg) m/s Nm
SA1005-1 5 3 1 3 10800 -10~+80
SA1005-2 5 3 3 1.5 10800 -10~+80
SA1005-3 5 5 7 0.8 10800 -10~+80
SA1007S SA1007-SN
¥1i2 B=12.7 3, M10X1.0P ¥1i2 B=12.7 3, M10X1.0P
g ~_(C=14.5) g (C=14.5)
=l - == -
B - T -
[€s]
© 3 39 3 39
Q
8.6 | 7 47 7 47
62.6

BREARBESE| RABUEER BFFRINEER
Nm We(kg) Nm
SA1007S 7 6 12 0.3~3.5 12400 -10~+80
SA1007-SN 7 6 12 0.3~3.5 12400 -10~+80

4 15.03



SA %%l

ﬂﬁfR‘_riE
SA1008
M10X1.0P g B=12.7
(C=14.5) /
] T T
_— I u@
sl 8 8
S 38 8 |6
57

BRARARWEE| RABVNEE | RREEER 2\ FHIRIEES

Nm We(kg) m/s
SA1008-1 8 4 2 3.0 15200 -10~+80
SA1008-2 8 4 4 1.5 15200 -10~+80
SA1008-3 8 4 9 0.8 15200 -10~+80
SA1210S
2 B=14 4 M12X1.0P
[ (C=18)

; L

) 45.5

s

8.4 |_10 50
68.4

BRABNEE | RREEEE | 8/ HRIINEE

We(kg)

SA1210S | 10 | 12 | 22 | 0.3-40 | 22500 | -10~+80
SA1412S SA1412-SN
2 B=19 5, M14X1.5P 18 B=19 M14X1.5P 5
5 (C=21.6) s (C=21.8) /

. _ - _ _
8 L || L [ |
4 58 4 58
11 12 67 12 67

90

%FXWM&@EE RABUEE B/)\RIRUNEEE
Nm
SA1412S 12 20 40 0.3~5.0 33000 -10~+80
SA1412-SN 12 20 40 0.3~5.0 33000 -10~+80




N HBEES
HYDRAULIC SHOCK ABSORBER

NEERYTIE
N —
SA1416
M14X1.5P #12 B=19
(M14X1.0P) (C=21.8) g
b |
|
[aV}
Reh :
9 86 16 [14.3
125.3 ‘

BRARARWEE| FARNEE | RREEERE | 8/ KRKRES

Nm We(kg) m/s Nm
SA1416-1 16 20 10 3.0 35000 -10~+80
SA1416-2 16 20 70 1.5 35000 -10~+80
SA1416-3 16 20 150 0.8 35000 -10~+80
SA2015S
412 B=26 8 M20X1.5P
Q (C=29.7)
. - v
§ — —
4 62
15 15 73
103

BRARARWEE SXBEUEE

Nm We(kg)
SA2015S \ 15 59 120 0.3~5.0 38000 -10~+80
SA2020
#52 B=26 5 M20X1.5P
S (C=29.7)

. |
g | S—

101

18 20 110
148

—

BRARARBEEZ| ABUEE | KRSEERE | 8/)\FHRINEEE
Nm

We(kg) m/s Nm
SA2020-1 20 40 30 3.5 42000 -10~+80
SA2020-2 20 40 200 2.0 42000 -10~+80
SA2020-3 20 40 700 1.0 42000 -10~+80

4 15.05



SA %3l

AERYF

SA2030

26

218

#132 B=26
(C=29.7)

(e8]}

M20X1.5P

101

18 30

110

158

BARARWEE BXEVNEE | GRREREE | 8/ \WBREES
Nm We(kg) m/s Nm
SA2030-1 30 50 30 3.5 48000 -10~+80
SA2030-2 30 50 200 2.0 48000 -10~+80
SA2030-3 30 50 700 1.0 48000 -10~+80
SA2050
412 B=26 8 M20X1.5P
© (C=29.7)
- |/
§ \—
158
18 50 167
235

RABUEE | REERRE | 8/)\HRINEEE
We(kg) Nm
SA2050 50 60 60 3.5 60000 -10~+80
SA2050 50 60 400 2.0 60000 -10~+80
SA2050 50 60 1200 1.0 60000 -10~+80
SA2525S
#hE B=32 10 M25X1.5P
o (C=36.7)
S
N
8
82
18.8|_ 25 92
135.8

SA2525S |

25

\EFIRUNEES

| 60000

-10~+80

4 15.06



N HBEES
HYDRAULIC SHOCK ABSORBER

AERIE
SA2540 M25X1.5P #1382 B=32
(C=36.7) 2

M 11N

= ()
N
*M 10 10 S

127 40 36
213

BRABHEE | RREEEE | 8/ KRIEESE

Nm We(kg) m/s Nm
SA2540-1 40 120 300 4.0 75000 -10~+80
SA2540-2 40 120 1200 2.5 75000 -10~+80
SA2540-3 40 120 2000 1.0 75000 -10~+80
SA3660
M36X1.5P #1582 B=46 o
(C=53) <
- TNy |
. 7

-
e
235

134 17 60 26
248

BRRARNEE| SABHEE | GREREE | 3/ \EIRIEE

[\ [31] We(kg) m/s Nm
SA3660-1 60 250 400 4.0 120000 -10~+80
SA3660-2 60 250 1500 2.5 120000 -10~+80
SA3660-3 60 250 2400 1.0 120000 -10~+80

4 15.07



SA %%

RNTE

SA

|
* 3l
\

SA

AERY &
SA0806-AN

25 X 40 AN
\
P K 7=
SEEE ]
AN i
M8X1.0P 12 B=11 o
(C=12.8) / ;
8

BRARARBEE| RABVEE
Nm We(kg)
SA0806-AN 6 3 6.0 0.3~2.5 7000 \ -10~+80
SA1007-AN
#58 B=12.7 3, M10X1.0P
gJ (C=14.5)
== -
* L |
3 39
7 47

SA1007-AN

BREKIRIEES

Nm

RABYUEE

We(kg)
12

ERRE
°C
-10~+80

=)\FIRINEEE
Nm
12400 |

EREEEE

m/s

0.3~3.5

SA1412-AN

$i2 B=19 M14X1.5P 5,
<
S (€=21.8) ‘
4 58
12 67

BURARINEEE

Nm

BABYEE
We(kg)

B/\RFIRUNEEE
Nm

RaEBEERE
m/s

SA1412-AN 12

20

40

0.3~5.0 33000 |




®
<< yrNTO

H B 4% & 248

HYDRAULIC SHOCK ABSORBER

AERY&E

SA2015-AN

#)2 B=26
(C=29.7)

7, M20X1.5P

EREEEE | B/ EHIRIEEE

[\\[37]

ERRE

SA2015-AN | 15 59 | 120 0.3~5.0 | 38000 | -10~+80
SA2725-AN
#12 B=32 M27X1.5P 6.5
e} (C=36.7) / ‘
Q
5 86
25 99

BRABUEE

=)\ FIRUNEEE

We(kg)

Nm

SA2725-AN | 25 147 | 270 0.3~5.0 | 72000 | -10~+80
SD1410 SD1410-NC
#12 B=19 5, M14X1.5P #h2 B=19 5, M14X1.5P
3 (C=21.8) ‘ 3 (C=21.8) ‘
a [
‘E [
72.5 72.5
14.3 10 88.5 ‘ 10 88.5
112.8
BRRARIEEE cERRE | B/\FIRINEE ERIRE
(\[3} Nm
SD1410 10 20 80 3.0 25000 -10~+80
SD1410-NC 10 20 80 3.0 25000 -10~+80

4 15.09



SA/SD %75l

NEER IR
SD2016 ¥H2 B=0B 8, M20X1.5P
Q (C=29.7)
[e0]
=
101
18 16 17
151

BABUEE

We(kg)

SD2016 | 16 | 25 | 200 | 3.5 | 30000 | -10~+80
SD2525
#iE B=32 10, M25X1.5P
] (C=36.7)
&
Q
101
19.5 25 118.5
163

BABRARNEEE| RARUNEE | REERRE | 2/ \WHIRIEE

Nm We(kg) m/s Nm
SD2525 | 25 | 85 | 400 | 35 | 54000 | -10~+80
SD2540
M25X1.5P #12 B=32
(C=36.7) Q
M 1N
- -
N
»M%m 10 Q
127 40 36
220.5

BAURARINEEE

Nm
SD2540 40 100 | 700 | 35 | 80000 | -10~+80

4 15.10



H B 4% & 248

< iANTO
HYDRAULIC SHOCK ABSORBER
AR ®
SD3650
M36X1.5P #1112 B=46 o
(C=53) S
==l
L 01
»Mﬁ 3
Q
134 17 50 25.8
246.8

BABUESE FHRE
We(kg)
SD3650 | 50 | 300 | 1400 | 3.0 | 100000 | -10~+80
SD4225/SD4250/SD4275
BRRAIREE BABUESE BI\FIRNEES ERRE
Nm ELG)) Nm
SD4225 25 260 3000 3.5 125000 -10~+80
SD4250 50 500 4000 45 150000 -10~+80
SD4275 75 750 6000 45 180000 -10~+80
B ATE H
D
; Q
[ 1] mﬁ’
| [ | iz
Bl
F G
B 1712 E
A

B8 | VBMIAE | TRmm) | A

SD4225 | M42X1.5 25 186.4 127.5 445 12 33.9 88 28.5 50 15
SD4250 | M42X1.5 50 240.9 157 445 12 33.9 117.5 28.5 50 15
SD4275 | M42X1.5 75 301.4 187.5 44.5 12 33.9 148 28.5 50 15

4 15.11



SD R3!

E {1 1= LE 9% 08 & A B '

EMIRIETREZIETE

BiEe \
V -—
] ] w = u
Nl [ ] s ||
gu— / 1\_}
1EEY
SiEs] RiER
= FA MY 15
gicge [ =1
R RY EEERAE EEBING
- - - SA2020
scos g SA0806 SC20 g 8 SA2050
‘ ‘ - SD2016
) - = .| [ SA2525
SC10 | (- Jr* SA1008 SC25 \C rd TE | SD2525
K . N . |4 | sA2540
A TS ] saats = [ | sA3ee0
SC14 | 1§ T8 | spiato SC36 | Jr® T8 11| sD3ss0

4 15.12



